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W5=10.0kN/m?+17.0kN/m? X 3.15m +24.0kN/m?* X 0.30m
=70.75 kN/m?

W3=70.75kN/m?

37.336kN/m?

2,150 l

72.782kN/m? {
35.416kN/m2—/{
4-5 2 & R~ DIEF N
- HjiFE—2X v}
M=70.75kN/m?x 2.15?m?2,2—37.336kN/m?x 2.15?m2,/2—35.416kN/m?x 2.15?m2,/6
=49.874 kN m/m

ERBEHIRDMEE — A v b A3 M=46.986kN-m/m T&H v . KR O EH € — 2
v F M=49.874kN-m/m X b d/NX >, EEERIEKGHES 2019 EH 0w 7' F 4
TIEWEDO/Ng 2{l% 220> & RIS ORXEHHMITE— 2 v MIcEHT 2 LW
23, AFETIZZ 2B LN M=49.874kN-m/m % 22> & fRi ik oo 2% atit 1
E—AVIFET D,

AW
Q=70.75kN/m? % 2.15m — 37.336kN/m? X 2.15m — 35.416kN/m? X 2.15m 2
=33.703kN/m
- WS
D=35.0cm d=27.0cm j=23.62cm
- FCAR DT

M=49.874kN+m/m=49.874 X 10°Nmm/m
req a =49.874 X 10°Nmm/m_ (195N/mm? X 236.2mm)
=1082.8mm?/m
D16@125 ¢ LT, a.=1592mm?/m > 1082.8mm?/m ..OK
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- BpE RO T = v o

Q=33.703kN/m=33.703 X 10°N/m

req x =33.703 X 103N/m,” (1.54N/mm? X 236.2mm)

=92.65mm/m

D16@125 & LT, x =400mm/m > 92.65mm/m ..OK
cREDF =y s

Qa=0.73N/mm?x 236.2mm X 1000mm/m

=172.43x10°N/m > 33.703 X10°N/m 50K

(b) REIEBDERET
- hEER DML T)

86.796kN/m? - 37.336kN/m?
q 4=37.336kN/m?2+ o % 1.10m

=55.471 kN/m?
W4=70.75kN/m?

.

(]
55.471kN/m? { 1;;;[::1;23;;;[5_1 37.336kN/m’

18.135kN/m? l

1,100 l

4-6 2> & RPEER~DER )
cfiFE—2 Vb
M=70.75kN/m?x 1.102m?,2 —37.336kN/m?x 1.102m? 2 —18.135kN/m? % 1.10?m? 6
=16.559 kN m/m
- AW
Q=70.75kN/m?x 1.10m — 37.336kN/m? X 1.10m — 18.135kN/m? X 1.10m 2
=26.781kN/m
- R
D=25.0cm+ ((35.0cm—25.0cm) 2.15m) X 1.10m=30.12cm
d=22.12cm
7=19.35cm
- Bofp o Rt
M=16.559kN m/m=16.559 X 10Nmm/m
req a .= 16.559 X 10°Nmm/m_ (195N/mm? X 193.5mm)
=438.9mm?/m
D16@250 & LT, a.=796mm?/m > 438.9mm?/m ..OK
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- BpE RO T = v o

Q=26.781kN/m=26.781 < 10°N/m

req x =26.781 X 103N/m,” (1.54N/mm? X 193.5mm)

=89.87mm/m

D16@250 &£ LT, yx =200mm/m > 89.87mm/m ..OK
cREDF =y s

Qa=0.73N/mm?x 193.5mm X 1000mm/m

=141.26X10°N/m > 26.781 X 10°N/m 50K

(c) DEERDERET

- Ul o HU T
86.796kN/m? - 37.336kN/m?
q2=237.336kN/m?2+ o X 2.5m
=78.553 kN/m?
- $ET)
HifTH 1 & R D H E O F]
W,=17.0kN/m?x 0.15m + 24.0kN/m?x 0.30m
=9.75 kN/m?

W2=9.75kN/m?

riri

86.796kN/m? { !!! 78.553kN/m?
<

8.243kN/m2—/.

500

4-7 O EFR~DIEMN
s fiFE—2 Vb
M=78.553kN/m?X 0.50?m?,2+8.243kN/m? X 0.50*m? 3 —9.75kN/m? X 0.50*m? /2
=9.287 kN*m/m
- AW
Q=78.553kN/m?x 0.50m +8.243kN/m?x 0.50m 2 —9.75kN/m? X 0.50m
=36.463kN/m
- RE
D=35.0cm d=27.0cm j=23.62cm
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- B o Rt
M=9.287kN+m/m=9.287 X 106Nmm/m
reqa .= 9.287 X 10°Nmm/m_ (195N/mm? X 236.2mm)
=201.6mm?/m
D16@250 ¢ LT, a.=796mm?/m > 201.6mm?/m ..OK
- BE RO T = v o
Q=36.463kN/m=36.463 X 10°N/m
req x =36.463 X 103N/m,”(2.31N/mm? X 236.2mm)
=66.83mm/m
D16@250 & LT, x =200mm/m > 66.83mm/m ..OK
cREDF =y s
Qa=0.73N/mm?x 236.2mm X 1000mm/m
=172.43x10°N/m > 36.463xX10°N/m .OK
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